ALGEBRA

CHAPTER 8

SECTION 5 NOTES
DIVIDING POWERS WITH SAME BASES
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RULE:
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Simplify.
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HINT:  Another way to do these is to look at the exponents on the variables.  Find the largest one.  The variable will be located where the largest exponent is located.  The exponent on the answer will then be the difference between the two exponents.
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For this problem, look at the exponents on z.  The numerator has an exponent of 10, the denominator an exponent of 5.  The z term will be located in the numerator.  The exponent will then be the difference between 10 and 5.
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You do not need to include the denominator of 1 in the answer.  I put it here so that you could see where the z term was located.
If there is more than one variable in the problem, just do each variable individually following the steps above.

[image: image7.wmf]2

4322

1

ab

abab

=







[image: image8.wmf]12

34

mnn

mnm

-

=



[image: image9.wmf]2147

435

xyzxz

xyzy

-

-

=







When doing division involving numbers in scientific notation, follow these steps:

1.  Divide the first terms

2.  Divide the powers by using the subtraction rule.  Remember, a number in scientific

     notation CAN have a negative exponent.

3.  If necessary, put the answer in scientific notation.
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RAISING A QUOTIENT TO A POWER
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RULE:
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Simplify.
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You can either apply the exponent without simplifying, or simplify the terms, then apply the exponent.
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OR
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For these two examples, you can either apply the negative exponent to each term, then simplify, or take the reciprocal first, apply the positive exponent, then simplify.
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For the remaining examples, I will be using these different ideas.  Some are easier to use than others, but all will get you to the same answer.
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There are three different methods to do this problem.  
1.  Take the reciprocal first, apply the exponent, then simplify the fraction.
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2.  Apply the negative exponent first.  Then follow the rules on placement of the terms.
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3.  Simplify the fraction before applying the exponent.  Then apply the exponent.
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A variation of this method involves taking the reciprocal before applying the exponent.
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Any of the above methods will work.  Find the one that works best for you.

To simplify this problem, I will apply a couple of the ideas above.
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